23.2.21

L.O. To multiply mixed numbers

1.

Complete the multiplications.

2
a) 3x8==
) 3 x 2

b) 2x 12-2 =
) 2x 127

6b— x4 =
C) 11x

d) 4x6-> =
) 4% 635

e) 2=—x12=

Complete the calculations.

2

a) 5x2==10+ — =

3

b) 4%x5=20+

10
3

3
11 x 43 =
f) 11 x 435




2 .
5x 3ﬁ is equal to

2
3X5ﬁ

Q@

Do you agree with Ron?

Explain why.

One bag of potatoes weighs 1% kg.
How much do 5 bags of potatoes weigh? i

1
3
How many litres of water does she drink in a week?

Eva drinks 3= litres of water a day.




